
PROBLEMS 

 
Section 11.3 Instantaneous Power and Average Power 

 

 

P 11.3-1 An RLC circuit is shown in Figure P 11.3-1. Find the instantaneous power delivered to 

the inductor when is = 1 cos ωt A and ω = 6283 rad/s. 

 

Figure P 11.3-1 
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P 11.3-8 

(a) Find the average power delivered by the source to the circuit shown in Figure P 11.3-8. 

(b) Find the power absorbed by resistor R1. 

Answer: (a) 30 W 

(b) 20 W 

 

Figure P 11.3-8 

 

Solution: 
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P 11.3-2 Find the average power absorbed by the 0.6-kΩ resistor and the average power supplied 

by the current source for the circuit of Figure P 11.3-2. 

 

Figure P 11.3-2 

Solution: 
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